FR29FE Fr)7 e 5—FA=ER

1+ 18 1K 1+ 1K 1% 18 | BAZ= | 1k 1% 1A | BAZE | 1K | BAZE | 1K
28 2K 2% 28 | AZE | 2k 2+ | B=E | 28 2K 2+ 24 | BAZE | 2& | FAZE | 22
38 | BAZE | 3k | BAE | 3k 3R 3K 38 | BAZE | 3k 3% 3H | BAZE | 3K | BAZE | 3+ | BZE | 3t | A=
4K 4K | FAZE | 48 | BAZE | 4% 4% 4R 4K 4% | FAZE | 4R 4K | FAZE | 48 | FAZE | 48 | A=
57K 5% | A= | 58 57K 5% | A= | 5x 5K 58 | BAZE | 5k 5% 58 58
6K 6t | BAZE | 6 64 68 | BAZE | 6Kk 6 68 67k 6t | BAZE | ok PN
ko 78 | BAZE | 7K ko 18 7K £ | BAZE | 7k 7K 78 | BAZE | 7K 77K
8t | B | 8H 8Kk 8t | BAZE | sk 8& 8H | BAZE | 8k | FE | 82 8H | BAZE | sk 8k
98 | BAZE | 9k 9% 98 | FAZE | 9k ot | BAZE | 98 9K ot | BZE | ok 9% 9%
108 107K 10t | BAZE | 108 10K 108 | BAZ= |10k 10& | A= |108 | BA=E | 10K 10+ | FAE |10+ | EAZE
1M 11K 118 | BAZ= |11k 1% | A= | 118 11K 11x | A= | 118 11K 118 | A= |18 | FA=
127K 12& 128 127K 12+ | BHZE |12k 12K 128 | EAZE |12 12& 128 128
13K 13t | BAZE |13k 13K 138 | BAZE |13k 132 | FAZE (138 | BAZE |13k 13t | BAZE |13k 13K
148 14H | BAZE | 14Kk 148 148 14K 14% | BAZE | 14K 14K 148 | BAZ= | 14Kk 147K
15+ | BAZE | 158 15K 15+ | BAZ= |15 15% 158 | BAZE | 15K 158 158 15K 15K
168 | BAZE |16k 16% 168 | BAZ=E |16k 16x | BASE | 168 16K 161 | BAZE |16k 16% 16%
178 17K 17+ | BA=E | 178 17K 178 | BAZE | 17X 17& 178 | BAZ=E [ 17K 17+ | BA=E |17 | A=
18K 18K 188 | BAZE |18k 18% 188 | BAZE |18k 18t | BA= |18A 18K 186 | BAZ |188 | BHZE
197K 19% 198 197k 19+ | BAZE |19k 19K 198 | BAZE |19k | BAE | 192 198 198
20K 20+ | BAZE |20k 20K 208 | BAZE |20k 20% 208 207K 20+ | BAZE |20k 20K
21% 218 | A= |21k 218 218 21K 21+ | BAZE |21k 21K 218 | BAZE |21k 217k | BAZE
22+ 228 22K 22+ | BHZE |22k 2% 228 | BZE |22k 2% 228 22K 22K
230 | BAZE |23k 23% 236 | BAZEE |23/ 23+ | BAZE | 238 23K 23+ | A= | 23X 23% 23%
247 247K 241 | BZE (248 24K | BZE (248 | BA=E |24x 245 248 | BZE | 24K 24t | BE |24+ | BAE
25K 25K 25H | BAZE |25k 25%& | BZE |258 255K 25+ | BZE (258 25K 258 | = (258 | BA=E
267K 268 26 A 267K 26+ | BAZE |26 | BAZE | 26K 266 | BAZE |26 | FAZE |26% 26 A 26 A
27K 27t | BAZE |27k PYEN 278 | M= |27k | BE |27% 278 27k | BAZE |27 | BAZE |27x 27K
28% 288 | BA=E |28k 28% 28A | BAZE 28K | BAZE |28% | BAZE |28k 28K | BAZE [288 | BAZE |28%k 287k
29+ | BA= |298 29K 29+ | BAEE [29:k | BAZE [29% | BAZ [298 | B | 295k 29% | BA= |298 29K
308 | BAZ=E |30k 30%: 308 | A= |30k | FAZE (30t | BAZE |30A 30K 30+ | BAZE |30k 30%:
315k 318 | BAZE [31K| BAZE 31k 318 | BAZ |31k 31t | BAZE




